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#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>
#define SIMPLE_SPRNG
#include'"sprng.h"
#include'"cpgplot.h"
#define SEED 53575463
#define sosi_input 7
#define sosi_output 3
#define sosi_hidden 60
#define sosisuu (sosi_input+sosi_output+sosi_hidden)
#define NUM_UPDATE 400
#define TEMPERATURE 10
#define T_END 0.01
#define EPSILON 0.00125
float sgn(float y,float T);
int main(void)
{
static int x[sosisuul,al[sosisuu] [sosisuu],wp[sosisuul [sosisuu],
wn[sosisuu] [sosisuul ,ikichi[sosisuu];
int over,update,learn,i,j,l,k,m,0,isshuu,random,random_number;
int kannsei,nl,n2,n3,n4,n5,n6,n7,n8,91,92,93,94,95,96,97,98;
float w[sosisuu] [sosisuul,y,T,epsilon,r,s;
float mark_x[7] [sosisuu*sosisuul ,mark_y[7] [sosisuu*sosisuul;
int color,number[7];
epsilon=EPSILON;
init_sprng (DEFAULT_RNG_TYPE, SEED,SPRNG_DEFAULT) ;
for(i=0;i<sosisuu;i++)
{
ali] [1]1=0;
wli] [1]=0.0;
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}
for(i=0;i<sosisuu;i++)
{
for(j=0;j<i;j++)

alil [j1=1;
aljl[il=alil [j]1;
w[i] [j1=0.0;
wljl [i1=wlil [j];

}
for(i=0;i<sosisuu;i++)
{
ikichi[i]=0;

for(j=0; j<sosisuu; j++)

ikichi[i]=ikichi[i]+w[i] [j];
}

}
n1=0;n2=0;n3=0;n4=0;n5=0;n6=0;n7=0;n8=0;
kannsei=0;

for(learn=0;kannsei<3;learn++)

{

for(i=0;i<sosisuu;i++)

{
for(j=0;j<i;j++)
{
wp[i] [j1=0;
wpl[jl[i]1=0;
wn[i] [j]1=0;
wn[j]l[1]=0;
}
}
for(0=0;0<80;0++)
{
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random=(int) (0/10) ;
if (random==0)
{
x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=1;
x[56]=1;
x[6]1=0;
x[sosisuu-3]=1;
x[sosisuu-2]1=0;
x[sosisuu-1]=1;
}
else if (random==1)
{
x[0]=0;
x[1]=1;
x[2]=0;
x[3]1=0;
x[4]=1;
x[5]=0;
x[6]=1;
x[sosisuu-3]1=0;
x [sosisuu-2]=1;
x[sosisuu-11=0;
}
else if (random==2)
{
x[0]=0;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
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}

x[6]=0;

x[sosisuu-3]=0;
x[sosisuu-2]=1;
x[sosisuu-1]=1;

else if (random==3)

{

3

x[0]=1;
x[1]=0;
x[2]=0;
x[3]=1;
x[4]=0;
x[56]=1;
x[6]=1;
x[sosisuu-3]=1;
x[sosisuu-2]=0;

x[sosisuu-1]=0;

else if (random==4)

{

}

x[0]=0;
x[1]1=0;
x[2]=0;
x[3]=0;
x[4]=0;
x[5]=0;
x[6]=0;
x[sosisuu-3]=0;
x [sosisuu-2]=0;

x[sosisuu-1]=0;

else if (random==5)

{

x[0]=0;
x[1]=0;
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x[2]=1;
x[3]=1;
x[4]1=0;
x[56]=1;
x[6]=1;
x[sosisuu-3]=0;
x [sosisuu-2]=0;
x[sosisuu-1]=1;
}
else if (random==6)
{
x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[6]=1;
x[6]1=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=1;
}
else if (random==7)
{
x[0]=1;
x[1]1=1;
x[2]=0;
x[3]=1;
x[4]=1;
x[5]1=0;
x[6]=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=0;
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for(l=sosi_input;1l<sosi_input+sosi_hidden;1++)
{
random_number=(int) (2.0*sprng());

if (random_number==0)
x[1]1=1;

else
x[1]1=0;

b
for (T=TEMPERATURE; T>T_END ; T=T*0.8)
{

for(isshuu=0;isshuu<(sosi_hidden)*10/T;isshuu++)

k=(int) (sprng()*sosi_hidden) ;
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}
else

{
x[i]1=0;
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for (update=0;update<NUM_UPDATE;update++)
{

for(isshuu=0;isshuu<2*sosi_hidden;isshuu++)

k=(int) (sprng()*sosi_hidden) ;
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[il=1;
}
else
{
x[1]=0;
}

for(i=0;i<sosisuu;i++)
for(j=0;j<i;j++)
{

if (x[i]==1 && x[jl==1 && al[il[j]1!=0.0)

wp[i] [j1=wp[i] [j1+1;
wpl[jl[il=wp[j] [i];
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{

for(0=0;0<80;0++)

random=(int) (sprng()*8.0) ;
if (random==0)
{
x[0]=1;
x[1]1=0;
x[2]=1;
x[3]=1;
x[4]=1;
x[56]=1;
x[6]1=0;
}
else if (random==1)
{
x[0]=0;
x[1]1=1;
x[2]=0;
x[3]1=0;
x[4]=1;
x[5]1=0;
x[6]=1;
}
else if(random==2)
{
x[0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]1=1;
x[6]=0;
}

else if(random==3)
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x[0]=1;
x[1]=0;
x[2]=0;
x[3]=1;
x[4]1=0;
x[56]=1;
x[6]=1;
}
else if (random==4)
{
x[0]=0;
x[1]=0;
x[2]=0;
x[3]=0;
x[4]=0;
x[5]=0;
x[6]1=0;
}
else if (random==5)
{
x[0]=0;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]1=0;
x[5]=1;
x[6]1=1;
}
else if (random==6)
{
x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
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x[4]=1;
x[5]=1;
x[6]=0;
}
else if (random==7)
{
x[0]=1;
x[1]1=1;
x[2]=0;
x[3]=1;
x[4]=1;
x[5]=0;
x[6]=0;
}
for(l=sosi_input;1l<sosisuu;1l++)
{
random_number=(int) (sprng()*2.0) ;
if (random_number==0)

x[1]=1;
else
x[1]1=0;

}
for (T=TEMPERATURE; T>T_END; T=T*0.8)

{

for(isshuu=0;isshuu<(sosi_hidden+sosi_output)*10/T;isshuu++)

k=(int) (sprng () *(sosi_hidden+sosi_output));
i=k+sosi_input;

y=0.0;

for(j=0; j<sosisuu;j++)

{
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y=y+wl[i]l [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}
else
{
x[1]=0;
}

}
for (update=0;update<NUM_UPDATE;update++)
{

for (isshuu=0;isshuu<2*(sosi_hiddent+sosi_output) ; isshuu++)

k=(int) (sprng()*(sosi_hiddent+sosi_output));
i=k+sosi_input;

y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng();
if (r<s)
{
x[i]=1;
}
else
{
x[1]=0;
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}
for(i=0;i<sosisuu;i++)
{
for(j=0;j<i;j++)
{
if (x[i]==1 && x[jl==1 && alil[j]1!=0.0)
{

wnl[i] [j1=wn[i]l [j]1+1;
wn[j] [il=wn[j][i];

by

for(i=0;i<sosisuu;i++)

for(j=0;j<i;j++)
{
wlil [j1=w[i] [j]1+(epsilon/T_END* (wp[i] [j1-wn[i] [j]))/NUM_UPDATE/o;
wljl [i1=w[il [j];
}

nl=0;
n2=0;
n3=0;
n4=0;
n5=0;
n6=0;
n7=0;
n8=0;
for (m=0;m<800 ;m++)
{
if (m<100)
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x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;

else if (m<200)

x[0]=0;
x[1]1=1;
x[2]=0;
x[3]=0;
x[4]=1;
x[56]=0;
x[6]=1;

else if (m<300)
{
x[0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[56]=1;
x[6]=0;

else if (m<400)
{
x[0]=1;
x[1]1=0;
x[2]=0;
x[3]=1;
x[4]=0;
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{

x[6]=1;
x[6]=1;

else if (m<500)

x[0]=0;
x[1]1=0;
x[2]=0;
x[3]=0;
x[4]1=0;
x[56]=0;
x[6]1=0;

else if (m<600)

x[0]=0;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;

else if (m<700)

x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]1=1;
x[5]=1;
x[6]1=0;

else if (m<800)
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x[0]=1;

x[1]1=1;
x[2]=0;
x[3]=1;
x[4]=1;
x[5]=0;
x[6]=0;

for(1=sosi_input;l<sosisuu;1l++)

random_number=(int) (sprng()*2.0);
if (random_number==0)
{
x[1]1=1;
}
else

{
x[1]1=0;

for (T=TEMPERATURE ; T>T_END; T=T*0.8)

for (isshuu=0;isshuu<sosi_hidden+sosi_output;isshuu++)
{
k=(int) (sprng() *(sosi_hidden+sosi_output));
i=sosi_input+k;
y=0.0;
for(j=0; j<sosisuu;j++)

y=y+w il [j1*x[j];
}
iki=ikichil[i];
s=sgn(y,T,iki);
r=sprng() ;
if (r<s)
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x[i]l=1;

else

x[1]=0;

if (m<100)
if (x[sosisuu-3]==1&&x[sosisuu-2]==0 &&x[sosisuu-1]==1)
{
nl=ni+1;
else if (m<200)
if (x[sosisuu-3]==0&&x[sosisuu-2]==1 &&x[sosisuu-1]==0)
{
n2=n2+1;
else if (m<300)
if (x[sosisuu-3]==0&&x[sosisuu-2]==1 &&x[sosisuu-1]==1)
{
n3=n3+1,;
else if (m<400)
if (x[sosisuu-3]==1&&x[sosisuu-2]==0 &&x[sosisuu-1]==0)

{
nd=n4+1;
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else if (m<500)

if (x[sosisuu-3]==0&&x[sosisuu-2]==0 &&x[sosisuu-1]==0)

{

nb5=nb5+1;

else if (m<600)

if (x[sosisuu-3]==0&&x[sosisuu-2]==0 &&x[sosisuu-1]==1)

{

n6=n6+1,;

else if (m<700)

if (x[sosisuu-3]==1&&x[sosisuu-2]==1 &&x[sosisuu-1]==1)

{
n7=n7+1;

else if (m<800)

if (x[sosisuu-3]==1&&x[sosisuu-2]==1 &&x[sosisuu-1]==0)

{
n8=n8+1;

}
if (n1>90&&n2>90&&n3>90&&n4>90&&n5>90&&n6>90&&n7>90&&n8>90)

{

kannsei=kannsei+1;
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else

{
kannsei=0;
}
}
for(learn=0;learn<200;learn++)

{

for(i=0;i<sosisuu;i++)

for(j=0;j<i;j++)
{
wp[i] [j1=0;
wp[j] [1]1=0;
wnl[i] [j1=0;
wn[jl[1]1=0;

for(0=0;0<80;0++)

random=(int) (0/10) ;
if (random==0)
{
x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;
x[sosisuu-3]=1;
x[sosisuu-2]=0;
x[sosisuu-1]=1;
}
else if (random==1)

{
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x[0]=0;
x[1]1=1;
x[2]=0;
x[3]=0;
x[4]=1;
x[5]=0;
x[6]=1;
x[sosisuu-3]=0;
x[sosisuu-2]=1;
x[sosisuu-1]=0;
}
else if (random==2)
{
x[0]=0;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]1=0;
x[sosisuu-3]=0;
x[sosisuu-2]=1;
x[sosisuu-1]=1;
}
else if(random==3)
{
x[0]=1;
x[1]1=0;
x[2]=0;
x[3]=1;
x[4]=0;
x[5]1=1;
x[6]=1;
x[sosisuu-3]=1;

x [sosisuu-2]=0;
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x[sosisuu-1]1=0;
}
else if (random==4)
{
x[0]=0;
x[1]=0;
x[2]=0;
x[3]=0;
x[4]=0;
x[5]=0;
x[6]=0;
x[sosisuu-3]=0;
x[sosisuu-2]1=0;
x[sosisuu-1]=0;
}
else if (random==5)
{
x[0]=0;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]1=0;
x[5]=1;
x[6]1=1;
x [sosisuu-3]=0;
x[sosisuu-2]=0;
x[sosisuu-1]=1;
}
else if (random==6)
{
x[0]=1;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
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x[56]=1;
x[6]1=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=1;

}

else if (random==7)

{
x[0]=1;
x[1]1=1;
x[2]=0;
x[3]=1;
x[4]=1;
x[5]1=0;
x[6]1=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=0;

}

for(l=sosi_input;1l<sosi_input+sosi_hidden;1++)

{
random_number=(int) (2.0*sprng());
if (random_number==0)

x[1]1=1;
else
x[1]=0;
}

for (T=TEMPERATURE; T>T_END; T=T*0.8)
{

for(isshuu=0;isshuu<(sosi_hidden)*10/T;isshuu++)
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k=(int) (sprng()*sosi_hidden);
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[il=1;
}
else

{
x[1]=0;

}
for (update=0;update<NUM_UPDATE;update++)
{

for(isshuu=0;isshuu<2*sosi_hidden;isshuu++)

k=(int) (sprng() *sosi_hidden);
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[i] [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
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else
{
x[1]=0;
}
}
for(i=0;i<sosisuu;i++)
{
for(j=0;j<i;j++)
{
if (x[i]==1 && x[j]==1 && a[il[j]'=0.0)
{

wplil [j1=wp[i] [j1+1;
wpl[jl[il=wp[j] [i];

}
}
}
}
}
for (0=0;0<80;0++)
{

random=(int) (sprng()*8.0) ;
if (random==0)
{
x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]1=1;
x[5]=1;
x[6]1=0;
}
else if (random==1)

{
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x[0]=0;
x[1]1=1;
x[2]=0;
x[3]=0;
x[4]=1;
x[5]=0;
x[6]=1;
}
else if (random==2)
{
x[0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;
}
else if (random==3)
{
x[0]=1;
x[1]1=0;
x[2]=0;
x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;
}
else if (random==4)
{
x[0]=0;
x[1]1=0;
x[2]=0;
x[3]1=0;
x[4]=0;
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x[56]=0;
x[6]1=0;
}
else if (random==5)
{
x[0]=0;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=0;
x[56]=1;
x[6]=1;
}
else if (random==6)
{
x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]1=0;
}
else if (random==7)
{
x[0]=1;
x[1]=1;
x[2]1=0;
x[3]=1;
x[4]1=1;
x[5]=0;
x[6]1=0;
}
for(l=sosi_input;l<sosisuu;1l++)

{
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random_number=(int) (sprng()*2.0);
if (random_number==0)

x[1]=1;
else
x[1]1=0;

b
for (T=TEMPERATURE ; T>T_END ; T=T*0.8)
{

for (isshuu=0;isshuu<(sosi_hidden+sosi_output)*10/T;isshuu++)

k=(int) (sprng()*(sosi_hiddent+sosi_output));
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}
else

{
x[i]1=0;

}
for (update=0;update<NUM_UPDATE;update++)
{
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for (isshuu=0;isshuu<2*(sosi_hidden+sosi_output) ; isshuu++)

k=(int) (sprng()*(sosi_hidden+sosi_output));
i=k+sosi_input;
y=0.0;
for(j=0;j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}

s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}

else

{
x[1]=0;
}

for(i=0;i<sosisuu;i++)
for(j=0;j<i;j++)
{

if (x[i]==1 && x[jl==1 && al[i]l[j]1!=0.0)

wn[il [j1=wn[il [j1+1;
wn[j] [i]=wn[j] [i];

for(i=0;i<sosisuu;i++)
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{
for(j=0;j<i;j++)
{
wlil [j1=wlil [j]1+(epsilon/T_END*(wp[i] [j1-wn[i] [j]))/NUM_UPDATE/o;
wljl[i]=wli] [5];
}

cpgopen ("over_turn_step_#.gif/GIF");
q1=0,92=0,q3=0,q4=0,95=0;96=0;97=0;98=0;
kannsei=0;
for(learn=0;kannsei<3;learn++)

{

for(i=0;i<sosisuu;i++)

{
for(j=0;j<i; j++)
{
wpl[i]l [j1=0;
wp[j][1]1=0;
wn[i] [j1=0;
wnl[j]l[11=0;
}
}
for(0=0;0<80;0++)
{

random=(int) (0/10) ;
if (random==0)
{

x[0]=1;

x[1]1=0;

x[2]=1;

x[3]=1;

x[4]=1;

x[5]=1;
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}

x[6]=0;

x[sosisuu-3]=0;
x[sosisuu-2]=1;
x[sosisuu-1]=0;

else if(random==1)

{

3

x[0]=0;
x[1]=1;
x[2]=0;
x[3]=0;
x[4]=1;
x[56]=0;
x[6]=1;
x[sosisuu-3]=1;
x[sosisuu-2]=0;
x[sosisuu-1]=1;

else if (random==2)

{

}

x[0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;
x[sosisuu-3]=0;
x[sosisuu-2]=1;

x[sosisuu-1]=1;

else if (random==3)

{

x[0]=1;
x[1]=0;
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x[2]=0;
x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;
x[sosisuu-3]=1;
x[sosisuu-2]1=0;
x[sosisuu-1]=0;
}
else if (random==4)
{
x[0]=0;
x[1]=0;
x[2]=0;
x[3]=0;
x[4]=0;
x[5]=0;
x[6]1=0;
x[sosisuu-3]=0;
x[sosisuu-2]=0;
x[sosisuu-1]=0;
}
else if(random==5)
{
x[0]=0;
x[1]1=0;
x[2]=1;
x[3]=1;
x[4]=0;
x[5]1=1;
x[6]=1;
x[sosisuu-3]=0;
x [sosisuu-2]=0;

x[sosisuu-1]=1;
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else if (random==6)
{
x[0]=1;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=1;
}
else if (random==7)
{
x[0]=1;
x[1]=1;
x[2]=0;
x[3]=1;
x[4]=1;
x[5]=0;
x[6]1=0;
x[sosisuu-3]=1;
x[sosisuu-2]=1;
x[sosisuu-1]=0;
}
for(1l=sosi_input;1l<sosi_input+sosi_hidden;1++)
{
random_number=(int) (2.0*sprng()) ;

if (random_number==0)
x[1]=1;

else
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x[1]=0;

+
for (T=TEMPERATURE ; T>T_END ; T=T*0.8)
{

for(isshuu=0;isshuu<(sosi_hidden)*10/T;isshuu++)

k=(int) (sprng()*sosi_hidden);
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+w il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}
else

{
x[1]=0;

}
for (update=0;update<NUM_UPDATE;update++)
{

for(isshuu=0;isshuu<2*sosi_hidden;isshuu++)

k=(int) (sprng()*sosi_hidden) ;
i=k+sosi_input;

y=0.0;

for(j=0; j<sosisuu;j++)

{
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y=y+wl[i]l [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}
else

{
x[1]=0;
}

for(i=0;i<sosisuu;i++)

for(j=0;j<i;j++)
{
if (x[1]==1 && x[jl==1 && alil[j]1!=0.0)

wplil [j1=wpl[il [j1+1;
wpl[jl[i]l=wp[j] [i];

}

for (0=0;0<80;0++)

random=(int) (sprng()*8.0) ;
if (random==0)
{
x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
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x[4]=1;
x[5]=1;
x[6]=0;
}
else if (random==1)
{
x[0]=0;
x[1]1=1;
x[2]=0;
x[3]=0;
x[4]=1;
x[5]=0;
x[6]=1;
}
else if (random==2)
{
x[0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;
}
else if(random==3)
{
x[0]=1;
x[1]1=0;
x[2]=0;
x[3]=1;
x[4]=0;
x[5]1=1;
x[6]=1;
}

else if (random==4)
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x[0]=0;
x[1]=0;
x[2]=0;
x[3]=0;
x[4]1=0;
x[56]=0;
x[6]1=0;
}
else if (random==5)
{
x[0]=0;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;
}
else if (random==6)
{
x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]1=1;
x[5]=1;
x[6]1=0;
}
else if (random==7)
{
x[0]=1;
x[1]=1;
x[2]1=0;
x[3]=1;
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x[4]=1;

x[5]1=0;
x[6]=0;
}
for(l=sosi_input;1l<sosisuu;1l++)
{
random_number=(int) (sprng()*2.0);
if (random_number==0)
x[1]=1;
else
x[1]1=0;
}
for (T=TEMPERATURE ; T>T_END; T=T*0.8)
{

for (isshuu=0;isshuu<(sosi_hidden+sosi_output)*10/T;isshuu++)

k=(int) (sprng()*(sosi_hiddent+sosi_output));
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}
s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[il=1;
}
else

{
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x[1]=0;

}
for (update=0;update<NUM_UPDATE;update++)
{

for (isshuu=0;isshuu<2*(sosi_hidden+sosi_output) ;isshuu++)

k=(int) (sprng()*(sosi_hiddent+sosi_output));
i=k+sosi_input;
y=0.0;
for(j=0; j<sosisuu;j++)
{
y=y+wl[il [j1*x[j];
}

s=sgn(y,T);
r=sprng() ;
if (r<s)
{
x[i]=1;
}

else

{
x[1]=0;
}

for(i=0;i<sosisuu;i++)
for(j=0;j<i;j++)
{

if (x[i]==1 && x[jl==1 && al[il[j]1!=0.0)

wn[il [j1=wn[il [j1+1;
wn[j] [i]=wn[j] [i];
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for(i=0;i<sosisuu;i++)

for(j=0;j<i;j++)
{
wlil [j1=w[i] [j]1+(epsilon/T_END* (wp[i] [j1-wn[i] [j]))/NUM_UPDATE/o;
wljl[i1=wlil [j];
}

if (learn’3==0)

for(color=0;color<=6;color++)
{

number [color]=0;
}
for(i=0;i<=sosisuu-1;i++)
{
for(j=0;j<i;j++)

if (wlil [j1<-0.1)
{
color=0;
}
else if(w[i] [j1<-0.01)
{
color=1;
}
else if(w[i] [j1<-0.001)
{
color=2;

}
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else if(w[i] [j]1<0.001)
{
color=3;
}
else if(w[i] [j]1<00.1)
{
color=4;
}
else if(w([i] [j1<0.1)
{
color=5;
}
else if(w[i] [j1>=0.1)
{
color=6;
}
mark_x[color] [number[color]]=(float)i;
mark_y[color] [number [color]]=(float)j;
number [color]++;

}
cpgsci(0);
cpgenv (0.0, (float) (sosisuu-1),0.0, (float) (sosisuu-1),0.0,0.0);
cpglab("","","cold -,hot +");
cpgsci(4);
cpgpt (number [0] ,mark_x[0] ,mark_y[0],18);
cpgsci(11);
cpgpt (number [1] ,mark_x[1] ,mark_y[1],18);
cpgsci(5);
cpgpt (number [2] ,mark_x[2] ,mark_y[2],18);
cpgsci(3);
cpgpt (number [3] ,mark_x[3] ,mark_y[3],18);
cpgsci(7);
cpgpt (number [4] ,mark_x[4] ,mark_y[4],18);
cpgsci(8);
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cpgpt (number [5] ,mark_x[5] ,mark_y[5],18);
cpgsci(2);
cpgpt (number [6] ,mark_x[6] ,mark_y[6],18);
cpgpage ) ;

nl=0;
n2=0;
n3=0;
n4=0;
n5=0;
n6=0;
n7=0;
n8=0;
for (m=0;m<800 ;m++)
{
if (m<100)

x[0]=1;
x[1]=0;
x[2]=1;
x[3]=1;
x[4]1=1;
x[5]=1;
x[6]1=0;

else if (m<200)

x[0]1=0;
x[1]=1;
x[2]1=0;
x[3]1=0;
x[4]1=1;
x[5]1=0;
x[6]=1;
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else if (m<300)

x [0]=0;
x[1]1=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;

else if (m<400)

x[0]=1;
x[1]=0;
x[2]=0;
x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;

else if (m<500)

x[0]=0;
x[1]=0;
x[2]=0;
x[3]=0;
x[4]=0;
x[5]=0;
x[6]=0;

else if (m<600)
x[0]=0;

x[1]1=0;
x[2]=1;
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x[3]=1;
x[4]=0;
x[5]=1;
x[6]=1;

else if (m<700)

x[0]=1;
x[1]=1;
x[2]=1;
x[3]=1;
x[4]=1;
x[5]=1;
x[6]=0;

else if (m<800)

x[0]=1;
x[1]=1;
x[2]=0;
x[3]=1;
x[4]1=1;
x[5]1=0;
x[6]1=0;

for(l=sosi_input;l<sosisuu;l++)

random_number=(int) (sprng()*2.0) ;
if (random_number==0)
{
x[1]=1;
}

else

{
x[1]=0;

67



for (T=TEMPERATURE ; T>T_END; T=T*0.8)

for (isshuu=0;isshuu<sosi_hidden+sosi_output;isshuu++)
{
k=(int) (sprng()*(sosi_hiddent+sosi_output));
i=sosi_input+k;
y=0.0;
for(j=0; j<sosisuu; j++)

y=y+wl[il [j1*x[j];
iki=ikichil[il;
s=sgn(y,T,iki);
r=sprng() ;
if(r<s)

x[i]=1;

else

x[1]=0;

if (m<100)
if (x[sosisuu-3]==1&&x[sosisuu-2]==0 &&x[sosisuu-1]==1)
{
ql=ql+1;
}

else if (m<200)
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if (x[sosisuu-3]==0&&x [sosisuu-2]==1 &&x[sosisuu-1]==0)
{
q2=q2+1;
}

else if (m<300)

if (x[sosisuu-3]==0&&x[sosisuu-2]==1 &&x[sosisuu-1]==1)

{
q3=q3+1;
}

else if (m<400)

if (x[sosisuu-3]==1&&x[sosisuu-2]==0 &&x[sosisuu-1]==0)

{
q4=q4+1;
b

else if (m<500)
if (x[sosisuu-3]==0&&x[sosisuu-2]==0 &&x[sosisuu-1]1==0)
{
gb=q5+1;
}
else if (m<600)
if (x[sosisuu-3]==0&&x[sosisuu-2]==0 &&x[sosisuu-1]==1)
{
96=q6+1;

¥

else if (m<700)
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if (x[sosisuu-3]==1&&x [sosisuu-2]==1 &&x[sosisuu-1]==1)
{
q7=q7+1;
}

else if (m<800)

if (x[sosisuu-3]==1&&x [sosisuu-2]==1 &&x[sosisuu-1]==0)
{
q8=q8+1;
}

}
if (q1>90&8q2>9048q3>90&&q4>90%&q5>9048&q6>90&&q7>90%&q8>90)

{

kannsei=kannsei+1;

}
else
{
kannsei=0;
}
}
cpgclos () ;
return O;
}
float sgn(float y,float T)
{
float ans;

ans=1/(1+exp((-y)/T));
return ans;
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